Efficiency vs P,

~ 0.2 T T
Q : : :
L 0.18F -t Freseeeeenes R
> 3 : : :
2 0.16F
o E
0.14F
0.12F

0.1k
0.08F
0.06]
0.04F
0.02F

e

1.0

Ratio

H
T
M
»

107 1 10 prT (Ge\})o3

—s=— DQM_V0001_R000000001__Global__mkFit10000__RECO
—— DQM_V0001_R000000001__Global__mkFit1000__RECO

= 0.2
O S S N
S S S A S

I : : : : : :
T R A
(8] L . . . . .
o SRS S O S
o E : : : : :
O It HAIRt SIS | U SR
T
0.08F -+ """" """ """"

006~ bty A

I AL LT

Ratio

H
T

0.95

Efficiency vs ¢

s 0.1
4
20.09
2
) 0.08]
(S}
£0.07
(]
0.06]
0.05
0.04
0.03]
0.02
0.01

..........................................

1.0

EE _L'.'.'.|.'.'=‘-.'1-.‘:§':‘1—.‘::".'.'.|.'.'.'.'.!J.'.'.'.!.'.'.'.'!.'.'.'.'{.'.'.'.'{.'.'.'.'

Ratio

||'-|||

TP @



	Contents
	Page 1


